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Match the following :
Hormone Action
A. Pepsin 1. The enzyme that
initiates
carbohydrates
digestion in the
mouth
B. Lingual 2. The principal
lipase triglyceride
digestive
enzyme in adults
C. Salivary 3. Secreted by chief
amylase cells in stomach;
a proteolytic
enzyme
D. Pancreatic 4. Secreted by 4

lipase

Choose the correct answer :

A
(a) 3
(b) 2
©) 3
d 2

Vertebral column consists of total
how many bones ?

(a) 33
(b) 24
) 26
d) 34

B

4
3
4
1

C

B~ = B~

glands in the
tongue; begins
breakdown of
triglyceride in
the stomach

D

W DN =

B-A)

In cell cycle orderly sequence of
events in which somatic cell
duplicates is

(a) G; phase — G, phase —
S phase — Mitotic Phase

(b) Mitotic phase — G; Phase

— G, Phase — S phase

(¢) G; Phase — S phase —
G, Phase — Mitotic phase

(d S phase — G; Phase —
G, Phase — Mitotic phase

Match the following :
Disorder Defect

A. Hemolytic 1. Vit. By,

ancima deficiency

B. Megaloblastic 2. Folic acid

anemia deficiency

C. Pernicious 3. Mass

anemia destruction of
red blood cells
D. Aplartic 4. Malfunction
anemia of bone-
marrow cells
A B C D
@ 2 4 1 3
(b) 3 1 2 4
c 4 3 2 1
@ 3 2 1 4
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Match the following :
Hormone Action
A. Angiotensin- 1. Stimulated
II insertion of

water channel
proteins into
the apical
membranes of
principal cells

B. Aldosterone 2. Suppresses
reabsorption of
Nat & water in
proximal tubule
and collecting
duct

C. Antidiuretic 3. Stimulates

hormone activity of

(ADH) Nat/H*
antiporters in
proximal tubule
cell

D. Atrial 4. Enhances

Natriuretic channels in

Peptide apical

(ANP) membrane of

principal cells
in collecting
ducts

Choose the correct answer :

A B C D

@) 3 4 1 2

(b) 1 3 4 2

(c) 2 1 4 3

d 4 2 1 3

Hormone which helps in ejection
of milk is

(a) FSH

(b) LH

(c) Oxytocin

(d) Prolaction

(5-A)

A. Syphillis

Site of Glycogenesis is,

(a) Pancreas
(b) Liver
(c) Skeletal muscle

(d) Both (b) and (¢)

The “Widal Test” done for a
patient with suspected typhoid
fever is example of test.

(a) Smear test
(b) Animal inoculation
(c) Serological test

(d) Chemical change

Match LIST — I with LIST — 11 :
Diseases Pathogen

1. Varicella zoster

B. Mumps 2. Treponema
pallidum
C. Shingles 3. Salmonella typhi
D. Typhoid 4. Paramyxoviridae
Choose the correct answer :
A B C D
@ 2 4 3 1
b)) 2 4 1 3
c 4 2 3 1
@d 4 2 1 3
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10. Match LIST -1 & LIST - 11 :
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Vaccine

A.BCG

B. Typhoid
Vaccine

C. DPT

D. Measles

A
(@) 2
(b) 4
(c) 3
d) 3

In a year, for how many months,
the grant will be given to the
hostels being run by the Minority
Private Institutions.

B

3
3
2
4

- B~ N B~ N

(a) 12 months
(b) 10 months

(¢) 9 months
(d) 8 months

Day dreaming is a kind of
(a) Conflict

(b) Mental readiness

(c) Withdrawal

(d) Habit

. Viral Vaccine

. Toxoids

. Killed/

Vaccine type

inactivated
Live attenuated
D
|
1
|
2

(7T-A)

13.

14.

15.

16.

A person with IQ of 40 is
described as

(a) Average
(b) Imbecile
(c) Gifted

(d) Borderline mental retardation

Sense of inferiority can develop
during

(a) 3-6 years
(b) 6-12 years
(c) 12 years above

(d) late adolescence

Kimbal Young classified social
control into two groups :

(a) direct & indirect
(b) formal & informal
(c) positive & negative

(d) none of the above

What 1s the reason for
hyperkalemia in stored blood ?

(a) Increased destruction of
RBCs

(b) Increased destruction of
WBCs

(c) Increased destruction of
platelets

(d) None of the above
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Which of the following formula
1s correct to convert Fahrenheit
scale to Celsius scale ?

(a) C:(F—32)x%
(b) C:(F+32)xg

9
(c) C:(F+32)><§

(d) C:(F—32)x%

Which of the following is/are the
principle/s involved n
administration of injections ?

(a) To minimize the pain

(b) To aid in absorption of the
drug

(c) The knowledge of anatomy
and physiology is essential
for the safe administration
of injection

(d) All of the above

For scorpion bite which treatment

1s given ?

(a) Application of medicated
ointment

(b) Application of hot
fomentation

(c) Application
permanganate

of potassium

(d) Application of disinfectant
lotion

20.

21.

22,

23.

9O-A)

For ‘hanging’ casualty what
treatment is given ?

(a) Remove the constriction

from around the neck
immediately

(b) If breathing is difficult start
CPR

(c) Shift the casualty to hospital
(d) All of the above

What are the direct actions of
ingested poisons on the food
passage ?

(a) Severe burning of the lips,
mouth and stomach

(b) Vomiting, pain and diarrhoea

(c) Difficulty in breathing and
unconsciousness

(d) Displacing the oxygen in the
blood and preventing its
distribution

Administration of a liquid drop
by drop is known as

(a) Instillation
(b) Insulation
(c) Insudation
(d) Insufflation

In the following which causes
pediculosis ?

(a) Excessive sweating

(b) TIrregular bath

(¢) Chronic tangling of hair
(d) All of the above



24.

25.

26.

27.

23

B3 FPNT 0303 2¥NLNT 0TI
SFat e enedeedst  Zenti
TITED ?

(a) Bats® e

(b) =o=® e

() won® &e

(d) oos® e

8 IINIPYINYY  o3wzm  Dedod
FUPUOHY TAZ BYINE )
W3  IAREIoPTY, 1R TEeN
TOBBER AN WIRBRFLITITINT ?

(a) Rowyl® TNFLODN

(b) 3T TNWLOD

(C) 2PRTECOD WHTWO TNFPLON
(d) TTYZ, SRTO TRNIPOO

& IJTom O3x eﬁtirae?'{zs é%sa
SPEO0I0 WHBEOSB, wor}d T

@Ofb N0 TR %o@ﬂ’%ﬁ@
WFNRRORT ?

(a) SEsecd BPTO

(b) @B eTHm &PEO

(C) APRWRT 3, BT SPEO

(d) B0eOF e

sBaery, 3BT FLohEsy

ORRICTITT, ABIVTIONT 063

03390 WONTIRY Be), BRSO

O3IPNTHZE 2

(2) BowschH, HOBoWD), NTIT B
T-«J’dﬂ’éﬁa TN JoCTD é'v:ﬁdo

(b) &2, Fpdex® e T,
20Oex®

(©) SBwaE0d, HFOS RYP FBRD
Bt BoRS® ATRT

(d) 30cOT o3RPHTR WY

28.

29.

30.

(10-A)

BeBRTE Boody ST moTL &
24308 OIS AeS, RATTINGS 2

3RT (3M2,0)
~ ago (M2)
23T (M?)
0% (379)
(¢c) BMI=38»3 3mpo + 233 (M?)
(d) R0edT o3RPHTR BY

(a) BMI

(b) BMI =

S IYNTINY Fp 030 TR 308
0BT T3, WNiE, 2

(a) m@@# [oF

(b) THII TR
(c) RpeyTa
(d) &go=s (agzﬁ)

8 IINIPINYEY oz QTOB

STING ?

(a) BIINYG  B3gZ  S[Omod
at-lelnte] 25900 JOD,
BRMEHNE, YOTIORNE TR
TOBERONT

(b) ¥ wpme Seed JPONY
Sed,, PN Sediment
BROBROTT @Zbé TOHOTD
NI, A0 ARTHZT

(c) TZmKond BROND whT
Gsfsplilaldiatel DTWOZNT
TOHITNHY YVOEITOT3

(d) @oteRT® VORTIT BT
Romle B ATE 3T TODIE
QVOEFTOZT



24.

25.

26.

27.

23

In the following fleas which is
responsible for endemic typhus
and bubonic plague ?

(a) Catflea

(b) Mouse flea

(c) Dog flea

(d) Ratflea

Which type of latrine is low cost
and excreta is converted into
manure that can be wused in
agriculture ?

(a) Sulabh latrine

(b) RCA latrine

(¢) Indian type latrine

(d) Western type latrine

In which of the following health
education model, the 3 stages
motivation, awareness and action
are involved ?

(a) Medical model

(b) Motivation model

(c) Social intervention model
(d) All of the above

In achieving health education
objective whose leadership 1is
influential in the role of
community ?

(a) Panch, Sarpanch, MLA and
School teachers

(b) DIG, Superintendent of
Police, Police

(c) Chief Minister, MLA and
M.P.

(d) None of the above

28.

29.

30.

(11-A)

Which of the following formula
is correct to calculate the Body
Mass Index ?

BMI = Weight (kg)

@ Height (M2)

_ Height (M?)
(b)  BMI= Weight (kg)
(c) BMI = Weight (kg) + Height (M?)

(d) None of the above

In the following secretions which

1s necessary for the digestion of
fat ?

(a) Gastric juice
(b) Intestinal juice
(c) Salivary juice

(d) Bile

Which statement is not correct ?

(a) Therapeutic effect of drugs
are preventing, treating and
curing of disease.

(b) Local effects of a drugs are
expected when they are
applied topically to the skin
or mucus membrane.

(c) High levels of the drug in
the blood stream produce
toxic effects.

(d) Synergetic effect occurs
during intravenous injection.
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31. Heimlich maneuver is used in
cases of

32.

33.
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(a)

Burns and scalds

(b) A foreign body obstructing
the airway

(c) Haemorrhage due to
accident

(d) Snake bite

The Streptococci of the oral

cavity may cause systemic

infection such as

(a) Osteoarthritis,  thyroiditis,
nephritis, gastritis

(b) Rheumatoid arthritis,
bacterial arthritis, nephritis,
gastritis

(c) Rheumatoid arthritis,
thyroiditis, Pancreatitis,
Nephritis

(d) Gastritis, Tonsillitis,

Nephritis, Blepharitis

The temperature of water for the
sponge bath and bathroom bath,
choose the correct pair :

Sponge bath  Bathroom bath
(a) 96°-105°F -110°-115°F (43.3°
(35.5°-40.5 to46.1°C)
OC)

(b)

(c)

(d)

112°-122 °F -96°-105 °F (35.5°
(44.4°-50°C) 1040.5 °C)

110°-115  —90°-100 °F (32.2°
°F (43.3°-  t037.8 °C)

46.1 °C)

110°-122 °F — 99°-112° F (37.2°
(43.3°- to 44.4 °C)

50 °C)

34. Direct causes of diabetes ulcer :

3S.

(13-A)

(a) Pressure, impaired
circulation, emaciation,
pathogens

(b) Friction, edema, obesity,
pressure

(c) Pressure, friction, moisture,

pathogens

(d)

Moisture, pressure, obesity,

pathogens

Some of the areas of health

education :

1.  Human biology

2. Communication

3. Hygiene

4.  MCH and family planning
5. Motivation

6. Prevention of accidents

Select the correct answer using

the codes given below :
(a) 1,2,3and4 only
(b) 1,3,4 and 5 only
(c) 1,3,4and 6 only
(d) 2,4,5 and 6 only
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Consider the following pairs :

I. One-way  — learner listens
communica-  to the message
tion and may raise

questions

2. Two-way — The message
communica- from sender to
tion the receiver

3. Verbal — Use of
communica- language
tion whether

spoken or
written

4. Non-verbal — Gesture and
communica-  facial
tion expression

Which of the above pairs are not
matching ?

(a) 1and?2

(b) 2and3

(c) 3and4

(d 1land3

Chlorine concentration of 1 mg/
litre water in direct chlorination
method if

(@ 1 ounce of bleaching
powder for 100 gallons of
water

(b) 10 ounce of bleaching
powder for 1000 gallons of
water

(c) 1 ounce of bleaching
powder for 1000 gallons of
water

(d) 100 ounce of bleaching
powder for 1000 gallons of
water

38.

39.

40.

(15-A)

Protein food sources are

(a) cereal products, dates, eggs
(b) meat, corn, cabbage, milk
(c) wheat, milk, barely, meat

(d) milk, cereal products, meat,

€ggs

Fat soluble vitamins available in

food items like

(a) whole milk,

vegetable oils, fruits

cereals,

(b) pork, tomatoes, meat, corn
(c) yeast, poultry, milk, peanuts

(d) milk, fruits, pork, peanuts

Clear opaque liquid diet consists

of foods that are

(a) Ice cream, chicken broth,
soups, strained vegetable
juices

(b) Chicken broth, carbonated

beverages, lemonade

(c) Soups, ice cream,

carbonated beverages

(d) Ice carbonated

beverages, lemonade

cream,
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When administering a
thrombolytic drug to the client
experiencing an MI, the nurse
explains to him that the purpose
of the drug is to

(a) keep him hydrated

(b) dissolve clots that he may
have

(c) prevent kidney failure

(d) treat  potential
dysarthymias

cardiac

In post Anesthesia, care wunit
priority nursing assessment is

(a) Monitoring of urinary output
(b) Airway potency
(c) ECG monitoring

(d) Level of consciousness

What is the early sign of breast
cancer ?

(a) Mobile mass

(b) Immobile mass

(c) Increase tissue size
(d) All of the above

Persecutory delusion is common
in

(a) Catatonic Schizophrenia
(b) Paranoid Schizophrenia
(c) Manic depressive psychosis

(d) Bipolar affective disorder

45.

46.

47.

(17-A)

Physical symptoms in
psychosomatic  disorders are
caused by

(a) Emotional factors
(b) Physical factors
(c) Environmental factors

(d) Genetic factors

Extra pyramidal symptoms are a
complication of treatment with
following drug :

(a) Antipsychotic drugs
(b) Anti-anxiety drugs
(c) Anti-depressants

(d) Anti-malarial

Consider the following :
Accidents
Criminality

Marital Disharmony

1

2

3

4. Financial Difficulties

5. Divorce

6. Occupational problems
7.  Seizures

Which of the above is not a social
problem ?

(a) 1,2,3 and4 only
(b) 1,3,5and 6 only
(c) Sonly
(d) 7only
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Which of the

combination drugs are prescribed

following

for mania ?

1. Lithium Carbonate — Carbo-
mezapine — Valproric acid

2. Imipramine — Trimipramine
— Clomipramine

3. Buspirone — Alprazolam -

Lorazepam

4.  Lithium

Clomipramine — Buspirone

Carbonate —

Select the correct answer :
(a) 1only

(b)
(c) 3 and4 only
(d)

2 and 3 only

4 only

Unintentional administration
of solution or medication into
the leads

surrounding  tissue

to
(a) Infiltration and Odema
(b)

(c) Infiltration and extravasa-

Phlebitis and induration

tion

(d) Swelling and bleeding

50.

51.

(19-A)

Match LIST — I with LIST — 11 :
LIST -1 LIST - 11
A.Hypothermia 1. blood
glucose
level
400 mg/dL
B. Hyperthermia 2. blood
glucose
level
50 mg/dL
C.Hypoglycemia 3. body
temperature
below
36.5 °C
D.Hyperglycemia 4. body
temperature
above 40 °C
Choose the correct answer :
A B C D
@ 3 4 2 1
1 2 4 3
c 2 1 3 4
@d 4 2 1 3
A person aged about 60 years has

been diagnosed as hypertensive.
So what is the recommended
amount of sodium intake for that
client ?

1. 10-20 grams / day

2. 15-20 grams / day

3. Less than 2.5 grams / day
4.  More than 2.5 grams / day
Select the answer :

(a) 1only

(b) 1 and 2 only

(c) 3only

(d) 4only
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The annual income of a family
belonging to category —2B shall
not exceed Rs. lakh to

consider 1t as backward class

under creamy layer policy.
(a) ¥ 4.501akh
(b) % 3.501akh
(c) 5.501akh

(d) 4.00 lakh

Consider the following :

I. A sprain is an injury to the

tendon.

2. A sprain is an injury to the

ligament.

3. A sprain is an injury to the

bone.

4. A sprain is the injury to the

muscles.
Select the correct statement/s :
(a) 1only
(b) 2and3
(c) 4only

(d) 2only

54.

5S.

56.

21 -A)

The clinical features of tetanus is

1. Lock jaw, muscle spasm,
photophobia, irritability

2. Fever,
lock jaw

nausea, vomiting,

3. Muscle spasm, back ache,
wound infection

4. Fever, back pain, neck

rigidity, photophobia
Identify the correct answer :
(a) land?2
(b) 2and3
(c) 1only
(d) 4only

Major complication of enteric
fever is

1. Toxicity

2.  Diarrhoea

3. High fever

4.  Perforation

Select the correct answer :
(a) 1land?2

(b) 2and3

(c) land4

(d) 4only

What is the common cause of
vaginal bleeding in a neonate ?

(a) Saracoma boytroides
(b) Trauma of delivery
(c) Harmonal withdrawal
(d) Viral infection
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57. Match LIST — I with LIST - 11 : 59. What is the term used when a

LIST -1 LIST - 1I fetal blood vessel lies over the os,
A.Syphilisis 1. Ring pessary infront of the presenting part ?

caused by (a) Cord Prolapse
B.Normal fetal 2. Tre.ponema (b) Vasa praevia

heart rate palidum
C. Sagittal 3. 120 to 160 (c) Placenta praevia

suture beats per 1 (d) Cord presentation

minute

D.Tru Helmo- 4.
phroditism

Between the
two parietal
bones

60. Breast feeding should be started
in normal delivery

E. Prolaps of

. Presence of

()

after 6 hours

uterus in both ovarian
. (b) after 2 hours
older age and testicular
group tissue in a (c) soon after delivery

ol .
single patient (d) after 4 hours
Which one of above pairs are

correctly matched ?

A B C D E 61. Who is the father of modern
@ 2 3 4 5 1 Gynecology ?
®d 3 4 5 2 1 (a) J. Marion Sims
© 2 1 3 5 4 (b) Hippocratic Carpus
@1 2 3 4 5

(c) Ephesus

58. When is the placenta completely (d) Jacques Pierre

developed and functioning after

gestation ? 62. What do mean by gynecomastia ?
(a) 16" week (a) Enlarged breast in female
(b) 12" week (b) Enlarged testis in male

(c) 20™ week (c) Enlarged ovaries in female
(d) 10™ week (d) Enlarged breast in male

23 (23-A)
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Nurses specially trained to labour
and child birth as well as provide
nursing care for women with

health problems are,
(a) GNM Nurse
(b) OB/Gyn Nurse
(c) ANM Nurse

(d) Female health worker

Consider the following signs and
symptoms of intra uterine foetal
death :

1. Absence of foetal movement
2. Uterine tone is diminished

3. Gradual retrogression of the

height of the uterus

4. Retrogression of the breast

changes.

The correct sequence of these

signs and symptoms in the

decreasing order :
(a) 1,3,4,2
(b) 3,2,1,4
(c) 1,4,3,2

d) 4,3,2,1

6S.

66.

25-A)

Match LIST — I with LIST — 11 :

Drugs Action
A.Labetalol 1. Uterine
contraction
B. Ethacridine 2. Cervical
lactate dilatation
C.Cetrorelix 3. Inhibition of
premature
LH surges
D.Valethamate 4. Vasodilation
A B C D
(a) 1 2 3 4
b)) 2 4 1 3
(c) 4 1 2 3
d 3 4 1 2

Which one of the following pairs

is correctly matched ?
Surgery Instrument

Name Name

1. Cleidotomy Long strait

scissor

2. Decapitation

Embroyotomy
scissor

Oldhams’s
perforator

Gaint
vulsellum

3. Craniotomy

4. Eviceration

Which of the above pairs are
correctly matched ?

(a) land?2
(b) 2and3
(c) land3
(d) 2and4
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A 32 years old women had 6
deliveries vaginally following
normal labour with spontaneous
delivery of an intact placenta.
Which one of the following
management is correct ?

(a) Excessive bleeding
continues despite manual
exploration and bimanual
massage

(b) Immediately administration
of IM injection of PGF 2a

(c) Intravenous oxytocin and
administration of 0.2 mg
Methergin I.V.

(d) None of the above

Which one of the following pair
is correctly matched ?

Organ Situated Place
(a) Uterus - 2" to 6™ rib in
midclavicular line
(b) Breast - Cornua of the

uterus towards
side valve

(c) Prostate Lies between the

gland rectumand
symphysis pubis
(d) Fallopian — In the cavity of
tubes pelvis behind
bladder and

infront of rectum

69.

70.

71.

27-A)

Which one of the following is the
correct sequence of purposes of
surgical procedure ?

(a) Ablative - Diagnostic —
Constructive

(b) Diagnostic — Ablative -
Constructive

(c) Constructive — Ablative —
Diagnostic

(d) Diagnostic — Constructive —
Ablative

Consider the following pairs :
Drugs Indication
1. Clomifene - Vaginal
candidiasis
2. Mefenamic - Disfunction of
acid uterine
bleeding
3. Miconazole - Subfertility in
female
4. FEthamsylate — Capillary
bleeding in
menorrhagia

Which of the above pairs are
correctly matched ?

(a) land?2
(b) 2and3
(c) land4
(d) 2and4

In which year Birth of W.H.O.
happened ?

(a) 1947
(b) 1948
(c) 1918
(d) 1958
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What kind of unit the family is
considered in all societies ?
(a) Secondary

(b) Primary & Secondary
(c) Primary
(d) None of the above

At what temperature the polio
vaccine required to be stored ?

(a) -20°C

(b) +20°C

(c) —-40°C

(d) +40°C

DOTS treatment is given for
which disease ?

(a) Leprosy

(b) Tuberculosis

(c) AIDS

(d) Above all

As per census 2001, what is the
percentage of
population in the
Karnataka ?

minority
state  of

(a) 15.69 % of the state population
(b) 13.69 % of the state population
() 14.69 % of the state population
(d) 17.69 % of the state population

Which of the following students

can get admission in prematric

minority hostels ?

(a) Those studying in professional
courses at graduation level.

(b)  Those studying in 1 to 10™ std.

(c) Those studying in PUC

(d) Those studying in Vth to X std.

77.

78.

79.

80.

(29-A)

Which of the following facility is
not provided to students who take
admission 1in minority Morarji
Desai Residential Schools ?

(a) Boarding facility

(b) Uniform, shoes and socks

(¢) Scholarship

(d) Text books & stationary

To assess the growth and
development of child what
measures you consider ?

(a) Immunization
(b) Anthropometric
(c) Health card

(d) Above all

‘Cohort’ means what ?

(a) Share
eristics

common charact-

(b) Share common tradition and
custom

(c) Share common kitchen
(d) Share common community

What is the need for health policy

in India ?

(a) Improve socio economical
status

(b) Eliminate poverty,
ignorance and ill health

(c) Eliminate the illiteracy,
promotion of profession

(d) Improve the health care

delivery system
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In which vital statistics we find
the ratio of infant death registered
in a given year to the total
number of live birth registered in
the same year, usually expressed
as a rate per 1000 live birth ?

(a) Neonatal Mortality Rate
(b) Perinfantal Mortality Rate
(c) Infant Morbidity Rate

(d) Infant Mortality Rate

In which of the disease condition
does the Peyer’s patches in the
intestines become swollen,
necrosed, ulcerated and may lead
to haemorrhage and perforation ?

(a) Cholera

(b) Tuberculosis
(c) Typhoid

(d) Jaundice

Which are the

present in the breast milk that is

Amino acids

very nutritive and important

neurotransmitters ?

(a) Taurine and Cysteine
(b) Leucine and Isoleucine
(c) Threonine and Lysine

(d) Valine and Methionine

84. In which age group do we use the

8S.

86.

B1-A)

Denver Developmental Screening
Test (DDST) most widely to
detect developmental delays ?

(a) Neonates and Toddlers

(b) Early  Adolescent
Middle Adolescent

and

(¢) Infancy and Pre school

(d) School age group and Early

adolescent

Which virus is causing the acute
and most highly communicable
disease known as chickenpox ?

(a) Myxo virus
(b) Varicella Zoster virus
(c) Paramoxy virus

(d) Human papilloma virus

Which of the

depends upon the maturation of

development

muscular, skeletal and nervous

system ?

(a) Language development
(b) Motor development

(c) Sensory development

(d) Social development
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the classic signs and symptoms
like sun set sign of the eyes and
cracked pot (MacEwen’s sign)
elicited by the
percussion of head of the child ?

(a) Spinabifida

could be

(b) Brain tumour
(c) Cerebral palsy
(d) Hydrocephalus

Example for group method of
teaching is :

(a) Role play

(b) Field trips

(c) Micro teaching

(d) Socialized classroom

Consider the steps in writing
nursing care plan.

[

Objectives
Evaluation
Assessment
Nursing diagnosis

LR W

Intervention
Choose the correct order :
(a) 4,5,1,3,2
(b)y 3,5,1,2,4
(c) 3,4,1,5,2
(d 2,5,1,3,4

90.

91.

92.

93.

(33-A)

Average size of the Flannel board
1s

(a) 1.5x 1.5 metres
(b) 2 x 2 metres
(c) 3 x 2 metres

(d) 4 x 2 metres

The space between two cots in
the patient unit should be

(a) 3-4 feets
(b) 4-5 feets
(c) 5-6feets
(d) 6-7 feets

Computer automated detection is
used in screening

(a) PAP slides
(b) Biopsy
(c) FNAC
(d) Endoscopy

Personal digital assistants can be
used in

(a) Billing and updating patients
visit

(b) Diagnostic purposes

(c) Delivering nursing care

(d) Health Education
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development of nursing

education in India :

I. In 1871 training for
midwives were given for a
period of six months with

supervised nursing practice.

2. First lady health visitors
course was started in Lady
Reading Health  School

Mumbai.

3. Later Diploma in General
Nursing and Midwifery
course was started with 3
years 9 months and later it
was condensed to 3 years

duration.

4. 4 years basic Nursing
Training Programme started
at RAK College, New Delhi
and CMC, Vellore.

The correct sequence of these

developments in chronological is,
(a) 1,4,3,2
(b)y 4,3,2,1
(c) 1,2,3,4

d 4,1,3,2

95. Consider the following pairs :
Exponents Philosophies
1. Hayward Joyce — Naturalism

2. Mahatma — Idealism
Gandhi

3. Herbert Spencer— Pragmatism
4. William James — Realism

Which of the above pairs are
correctly matched ?

(a) 1and?2
(b) 2and3
(c) 3and4
(d) 2and4

96. Remuneration paid to the
teachers who coach under
remedial coaching scheme is

Pick the correct one :

(a) Rs. 3600 p.m. per centre for
3 subjects in primary section
of government urdu schools

(b) Rs. 4800 p.m. per centre for
6 subjects in government
high schools

(¢) Rs. 1500 p.m. per centre for
1 subjects in government
urdu schools

(d) Rs. 4500 p.m. per centre for
3 subjects in government
urdu high schools

(35-A)
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through demonstration method ?

1. Provides skill learning and

demonstrational learning.

2. Best method for school age
due to stage of cognitive
development

Select the correct answer using

the code given below :
(a) 1only

(b)
(c) Both1and?2

2 only

(d) Neither 1 nor 2

Which one of the following is the
the

management functions by Henry

correct  sequence  of

Fayol ?

(a) Planning - Organizing -—

Commanding — Coordination

(b) Commanding — Coordination
— Planning — Organizing

(¢) Organizing - Planning -

Commanding — Coordination

(d) Coordination — Commanding

— Organizing — Planning

99.

100.

Which one of the following is not
major functions of the supervisor ?
(a) Planning & Directing

(b) Teaching and Staffing

(c) Reporting and Coordinating

and

(d) Public Relation

Escorting Visitors

Match LIST — I with LIST — I :
Move/action Key/Slash

A. Beginning of 1. Ctrl + End

the line

B. End of the 2. Home
line
C. Top of the 3. End
line
D. End of the 4. Ctrl + Home
document
A B C D

@ 3 2 1 4
b 2 3 4 1
© 4 1 2 3

@ 2 1 3 4

(37-A)
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